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EE R 33% 7 IR H 1,200 9% | @
B3 50%5 | 800 | 14= (o | o | @ |0 | 0| @
5 50%5 A 800+95 14 %
b 95% o o o 0o 0o 0 0 o0
= s 20%50 A 450 | 21 = |e | @ | @ | @ | @ | @ °
= R 44% 50 A 1,000 | 21 % | e | @ | @ | @ | @ | @ °
= I b 20%5 A 1,000 | 18 =% | @
7oA A Bk 31 6%50 H| 400 | 21 % | @ °
g 95%5¢ Al 95 3T | e | @ °
T4 99%54 FH| 500 A °
R 40% 5" A 1,000 | 18 = °
SeAg s 50%50 F| 1,200 | 15 = °
do (FFE 44% K R A 1,200 7 * o |0
dv 4% 40.64% K R A 1,200 7 =* o | o
B 25% 5 A 1,000 | 14 = ° °
B s 25% 54 )| 1,000 | 18 = °
% 4% o 20%50 A 800 | 20 = °
TRk A Bk 31.6%5C 1,200 | 20 = °
T A Rk 40%F R A 1,200 | 20 = °
7Rk Ao Bk 48.34% 51 | 1,000 | 21 = °
1 50% 7 JR 4 1,000 | 21 = °
ME IR B 13.5%50 F 1,000 6 % °
& 274> 50% 7 Rk F| 1,500 7 = °
EFR S%B R 1,500 | 9= °
ERFR A0%T R4 H 2,500 | 12 = °
I L 25% 7 R A 2,000 12 % °
g 278 25%35 &) 1,000 14 % °
Fit® 1% B4 H 1,600 | 14 = o | o
Fit % 2.8%54 A 4,000 | 14 = °
Fit % 2.5%p A 4000 | 14 = °
Bt % 246% % B R ¥R 4000 | 14 = .
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B A 50%7F % ks A 1,000 | 14 = °
Fr i 25% 50 ) 500 | 18 = °
Z R 50%F Rk A 500 | 18 = °
% 3% 50 40% K & A 1,200 | 20 = )
2378 2.8%51 A 1,000 | 20 = °
2 7% 2.5% K R A 1,000 | 20 = °
B2 1B 40%7 % ke R 1,500 | 20 = °
32 17 40% K% k] 1,500 | 20 = °
32 17 25%F 5 kR 900 | 20 = °
2 17 24%% % 750 | 20 = )
AmfE 2 187 30% K & A 1,500 | 20 = °
A R 25%5 A 1,000 | 21 = °
B 10%0% 7% 350 7 = °
BT 1%50 | 1,500 6 = °
ik B% 10%- K Rt A 4,000 6 = °
2 A 20%7 Rk A 3,000 6=
& F 5 5% H 2,000 9 = °
4 % 10%3# 1,500 | 10 = °
2 T 2.5% K R 750 | 10 = °
2 5% 2.8%F A 750 | 10 = °
F £ %2 39.5% K & A 2,000 | 10 = °
SRR S 13% K A 51 A 1,000 | 15 = °
L% 5% K R A 2,000 | 15 = °
i B bk 45% K & A 2,500 | 15 = °
E 8558 B 45%5H| 1,500 | 15 = °
& % 5 10% ¥ JR sk Al 4,000 | 20 = °
S Fe 35%5 Al 1,500 | 20 = °
LS 10%5" Al 1,600 | 21 = °
& FH B 7.5%F A 1,500 | 21 = °
T M 46.5% 5 | 800 | 21 = °
25 5 4% K R A 3,000 | 25 = °
FTHE 25% 5 500 | 30 = °
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LHELL 25% 7 R4 A 500 | 30 = °
= 27 8% 20%5" H 1,000 | 30 = °
< Sub% 18.5%5¢ A&l 400 | 30 = °
* Fb% 18.5% 7 R4 H 400 | 30 = °
X FL b 35% A 800 | 30 = °
< SobE 35%F R A 750 30 = °
XL 42% A 900 | 30 = °
i 50%F R H 2,000 | 30 = °
s 5 30%7 JRIEL A 1,000 | 30 = °
% 5 57%5 A 1,500 | 30 = °
S ELE 42% K R A 3,000 | 30 = oo
W55 10%7 (R4 A 3,000 | 9= e
B 7% %S 30% K R A 5,000 6 = °
VORMELR 95% 7 Rk A 100 °
FORIER 80% K A FT ] 85 °
FORMER 90% 7 RS | 96 °
FORMER T5% K & ST 80 °
o= T 2% A 2000 6 = °
BHGR 10%03 % 350 7 = °
T A R 25%F R B 1,000 | 12 = °
R I 50%F RS A 1,000 | 15 = °
sedg s 50%5C A 1,500 | 15 = °
AR 2 17 30% K & A 1,000 | 20 = °
38 4% 5% K R 1,000 | 21 = °
FTH% 25%5" A 1,000 | 21 = °
FTHAR (4 ] 50%:5 & 2,000 | 21 = °
i 50%: K & A 2,000 | 60 = °
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4 5] 50%7 R AS A 500 | 18 =
bu A1 85% 7 JR A A 850 | 18 =
< 20%3 A 450 | 21 =
O+ F4* 40.64% K & #| 100 | 10 =
@4\:1&#44%}4%%‘%4 100 | 10 =
51 20%35 A 2,000 | 9 = o
51 4] 20%k 50 A 2,000 [ 9 = o
F A 50%35 | 1,000 | 21 = o
OF) - 0.02%4 %] 8 o
O+ ek W * >0z AF o E X 2 o
O EMAELH TV WA M BRAPEFTHZKL 3 7 vg‘ﬁ it o

KEFES FELP HEBEEF 2

(http://www.tndais.gov.tw/Protect/plant.htm > & 4= i%3& + p (i ‘,‘g&-

I%E L:Li_)) °

EEE X Rk




